topology - 1.2 - proofs with compositions March 18, 2014

F(OA) = (FE

A
Suppose , in addition, that ¥ is iajective (netoone)
2 Let ye LR = yek(A) fratl ALA
= For coch A€AS, T g e A, such that
Y=F@); e, Yf@) or oA,
Y:f0) for a,cA. etc.
Thatis, £@)=4@)) Healli))-
Since § is ;njecﬁve)

‘:(QQ‘--F(OD = A =4 oo alk i, j.
That is -

)S—P(O\B foc oc A{DJOA"

Q.QQC&A = ‘F(&)e-\:(@f\v
y= £y = SG'P(QA
Hoc, (N2 = $(QA).

(s £ isnjecin).

\. 2
Given {:A—>B ond 3:6_? C—)

3°'F A—?C has +he rule
<< %(O‘)Cdllror SOM¢LGB)—F(¢Q=\OQN)3@,)=%

Lemmoo: 1€ o funchion has an -'n\’USQJ Then
it s b'\'yd-ivc-
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T ¢ AB | 9:Bp—>C
(> 1f C,=C, show that
; (3:£)'(co) = f"(ﬂ-'(Co))

= Let xe (3&)—‘(6“3.
X in preimage of C, undes ja\c.
= 3 ceC, st. @of)(x3=c.
(9D =C = J LeR
ShE f (D)=L o 3(5):(:_

A= X ceC, D b@_ 6"((‘6)
£ =L & Le 3—‘(Cc>

> xe V(j"(@) )

4  $A>B,9B-C

() 1f £ 39 oveinjective, show
ot Aok s 'm)ec’rivﬁ.
Givea: fad=Ff@) H a,=02 o ae A
3(5.) '-SCL;,_) bbb, VY b‘&—bzeg
To show that 9-F is 'mj?C‘H\NJ 1€ .

T (D)) D % =X,
Proo.’?'- Let (3"\-’>(XD’—‘(3°$>CX7)-
Le. g(£0xY) :5(-(-‘()(,)).

S‘tnc( 3 is 'lf\:JG('("VVK 5 I howe 'F()(D‘—‘?()Q‘D )
Since £ IS 5nJec,W' e L\a.ue )(l’:.)( =
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2¢. A,cA, = 'F(A‘DC’F/AD

20 Bo=B = JVH(BD = {Z—I(BD
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